ON THE FRACTIONAL DIRAC SYSTEMS WITH NON-SINGULAR OPERATORS

by

Ahu ERCAN*

Department of Mathematics, Firat University, Elazig, Turkey

Original scientific paper https://doi.org/10.2298/TSCI190810405E

In this manuscript, we consider the fractional Dirac system with exponential and Mittag-Leffler kernels in Riemann-Liouville and Caputo sense. We obtain the representations of the solutions for Dirac systems by means of Laplace transforms.

Key words: Dirac operator, fractional, exponential kernel, Mittag-Leffler kernel, Laplace transform

Introduction

The aim of fractional derivatives has been used in many real world problems with great success. This led to new fractional definitions. Recently, fractional derivative with exponential kernel was defined by Caputo and Fabrizio [1]. It was followed by some related theoretical and applied results in [2, 3]. Definition of fractional derivative having Mittag-Leffler kernel was given by Atangana and Baleanu [4]. These new definitions give more precise results in some modelling problems because of having non-singularity in its kernels.

Some modelling problems and its solution methods having fractional operator with exponential kernel was considered by Baleanu *et al.* in [2, 5-7], Al-Refai and Abdeljawad [8] Owolabi and Atangana [9]. Baleanu *et al.* studied operator with Mittag-Leffler kernel in [10-12]. The comparisons of these two new definitions were studied by Abro *et al.* [13], Sheikh *et al.* [14], Saad *et al.* [15], and Bas *et al.* [16-18].

Dirac equation has a big importance in the modern field of atomic physics and its emergence began in 1928 while searched for a relativistic covariant wave equation of the Schrödinger form. Dirac equation expresses a wave equation for spin-1/2 particles [19]. A relativistic particle of spin-1/2 at high velocities corresponds to Dirac equation. Dirac equation expresses the position of electrons in a sense convenient with special relativity, needs that electrons have spin 1/2, and presuming the existence of an antiparticle partner to the electron (the positron). It is very important in the physics and mathematics, such that it is a first-order matrix linear differential equation whose solution is a 4-component wave function (a spinor) [19-21].

Let *L* denote a matrix operator:

$$\begin{bmatrix} V(x) + m & 0 \\ 0 & V(x) - m \end{bmatrix}$$

^{*}Author's e-mail: ahuduman24@gmail.com

where m is the mass of a particle and V(x) is a potential function. Then consider the equation:

$$\left(B\frac{\mathrm{d}}{\mathrm{d}x} + L - \lambda I\right)y = 0$$

where λ is a parameter and:

$$B = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}, I = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, y(x) = \begin{bmatrix} y_1(x) \\ y_2(x) \end{bmatrix}$$

is equivalent to a system of two simultaneous first-order ordinary differential equations:

$$\frac{\mathrm{d}y_{2}(x,\lambda)}{\mathrm{d}x} + \left[V(x) + m\right]y_{1}(x,\lambda) = \lambda y_{1}(x,\lambda),$$

$$-\frac{\mathrm{d}y_{1}(x,\lambda)}{\mathrm{d}x} + \left[V(x) - m\right]y_{2}(x,\lambda) = \lambda y_{2}(x,\lambda)$$

Major results for the classical spectral problem for Dirac operator are included the representations of the solutions, asymptotic behaviours of the eigenvalues, the eigen-vector-functions and the norming constants, the ortogonality of the eigenfunctions, the reality of the eigenvalues and this kind of approach is called as direct problem. This type of problems were studied in [22-24].

In this study, we consider fractional Dirac systems within non-singular operators. We derive the representations of solutions for Dirac systems by using Laplace transforms. Our this approachment will give rise to a lot of open problems in direct and inverse problems for Dirac system in the spectral theory.

Preliminaries

Definition 1. [1] The left and right sided fractional derivatives in Caputo (C) sense with exponential kernel are defined:

$${}^{CFC}_{a} D^{\alpha} f(t) = \frac{M(\alpha)}{1 - \alpha} \int_{a}^{t} f'(s) \exp\left[\frac{-\alpha}{1 - \alpha}(t - s)\right] ds$$

$${}^{CFC}_{a} D^{\alpha}_{b} f(t) = \frac{-M(\alpha)}{1 - \alpha} \frac{d}{dt} \int_{t}^{b} f(s) \exp\left[\frac{-\alpha}{1 - \alpha}(s - t)\right] ds$$

$$(1)$$

left and right derivatives in the Riemann-Liouville (RL) sense:

$${}^{CFR}_{a}D^{\alpha}f(t) = \frac{M(\alpha)}{1-\alpha} \frac{d}{dt} \int_{s}^{t} f(s) \exp\left[\frac{-\alpha}{1-\alpha}(t-s)\right] ds$$
 (2)

where $f \in H^1(a, b)$, a < b, $\alpha \in [0, 1]$, and:

$${}^{CFC}D_b^{\alpha}f(t) = \frac{-M(\alpha)}{1-\alpha}\frac{d}{dt}\int_{t}^{b}f(s)\exp\left[\frac{-\alpha}{1-\alpha}(s-t)\right]ds$$

where $M(\alpha) > 0$ is a normalization function with M(0) = M(1) = 1.

Definition 2. [1] Left and right fractional integrals for fractional derivatives with exponential kernel are defined, respectively by:

$${}_{a}^{CF}I^{\alpha}f(t) = \frac{1-\alpha}{M(\alpha)}f(t) + \frac{\alpha}{M(\alpha)}\int_{a}^{t}f(s)ds$$

$$^{CF}I_{b}^{\alpha}f(t) = \frac{1-\alpha}{M(\alpha)}f(t) + \frac{\alpha}{M(\alpha)}\int_{t}^{b}f(s)ds$$

Definition 3. [4] Left and right sided fractional derivatives having Mittag-Leffler kernel in C sense are defined, respectively:

$${}^{ABC}_{a}D^{\alpha}f(t) = \frac{B(\alpha)}{1-\alpha} \int_{a}^{t} f'(s) E_{\alpha} \left[\frac{-\alpha}{1-\alpha} (t-s)^{\alpha} \right] ds$$

$${}^{ABC}_{a}D^{\alpha}_{b}f(t) = \frac{-B(\alpha)}{1-\alpha} \int_{t}^{b} f'(s) E_{\alpha} \left[\frac{-\alpha}{1-\alpha} (s-t)^{\alpha} \right] ds$$

$$(3)$$

left and right derivatives in RL sense:

$${}^{ABR}_{a}D^{\alpha}f(t) = \frac{B(\alpha)}{1-\alpha}\frac{\mathrm{d}}{\mathrm{d}t}\int_{a}^{t}f(s)E_{\alpha}\left(\frac{-\alpha}{1-\alpha}(t-s)^{\alpha}\right)\mathrm{d}s\tag{4}$$

where $f \in H^1(a, b)$, a < b, $\alpha \in [0, 1]$, and:

$${}^{ABR}\mathbf{D}_{b}^{\alpha}f(t) = \frac{-B(\alpha)}{1-\alpha}\frac{\mathrm{d}}{\mathrm{d}t}\int_{t}^{b}f(s)E_{\alpha}\left[\frac{-\alpha}{1-\alpha}(s-t)^{\alpha}\right]\mathrm{d}s$$

where $B(\alpha) > 0$ is a normalization function with B(0) = B(1) = 1.

Definition 4. [12] Left and right fractional integrals for fractional derivative with Mittag-Leffler kernel are defined, respectively:

$${}_{a}^{AB}I^{\alpha}f(t) = \frac{1-\alpha}{B(\alpha)}f(t) + \frac{\alpha}{B(\alpha)}{}_{a}I^{\alpha}f(t)$$

$${}_{AB}I^{\alpha}_{b}f(t) = \frac{1-\alpha}{B(\alpha)}f(t) + \frac{\alpha}{B(\alpha)}I^{\alpha}_{b}f(t)$$

Theorem 5. [1, 9] The fractional Laplace transforms of with exponential kernel (1) and (2) are defined:

$$\mathcal{L}\left\{ {}^{CFR}_{a}D^{\alpha}f(t)\right\}(s) = \frac{M(\alpha)}{1-\alpha} \frac{s\mathcal{L}\left\{f(t)\right\}(s)}{s + \frac{\alpha}{1-\alpha}}$$
(5)

$$\mathcal{L}\left\{\left(\frac{CFC}{a}D^{\alpha}f\right)(t)\right\}(s) = \frac{M(\alpha)}{1-\alpha}\frac{s\mathcal{L}\left\{f(t)\right\}(s)}{s+\frac{\alpha}{1-\alpha}} - \frac{M(\alpha)}{1-\alpha}f(a)e^{-as}\frac{1}{s+\frac{\alpha}{1-\alpha}}$$
(6)

Theorem 6. [2] The fractional Laplace transforms with Mittag-Leffler kernel (3) and (4) are defined:

$$\mathcal{L}\left\{ {}^{ABR}_{a}D^{\alpha}f(t)\right\}(s) = \frac{B(\alpha)}{1-\alpha} \frac{s^{\alpha}\mathcal{L}\left\{f(t)\right\}(s)}{s^{\alpha} + \frac{\alpha}{1-\alpha}}$$
(7)

$$\mathcal{L}\left\{ {}^{ABC}_{a} D^{\alpha} f(t) \right\} (s) = \frac{B(\alpha)}{1-\alpha} \frac{s^{\alpha} \mathcal{L}\left\{ f(t) \right\} (s) - s^{\alpha-1} f(a)}{s^{\alpha} + \frac{\alpha}{1-\alpha}}$$
(8)

Definition 7. [17] The convolution of f(t) and g(t) is defined:

$$(f * g)(t) = \int_{0}^{t} f(s)g(t-s)ds, f,g : [0,\infty) \to R$$
(9)

Definition 8. [25] Mittag-Leffler function $E_{\delta}(z)$ is defined:

$$E_{\delta}(z) = \sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\delta k + 1)}, \ \left[z \in \mathbb{C}, \ \operatorname{Re}(\delta) > 0 \right]$$
 (10)

and Mittag-Leffler function with two parameters is defined:

$$E_{\delta,\theta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\delta k + \theta)}, \ \left[z, \theta \in \mathbb{C}, \operatorname{Re}(\delta) > 0\right]$$
(11)

Property 9. [17] Inverse Laplace transforms of some special functions are given:

$$\mathcal{L}^{-1}\left\{\frac{a}{s\left(s^{\delta}+a\right)}\right\} = 1 - E_{\delta}\left(-at^{\delta}\right)$$

$$\mathcal{L}^{-1}\left\{\frac{1}{s^{\delta}+a}\right\} = t^{\delta-1}E_{\delta,\delta}\left(-at^{\delta}\right)$$

Property 10. [17] The following equality is hold:

$$\mathcal{L}\left\{ \left(f*g\right)\left(t\right)\right\} = \mathcal{L}\left\{ f\left(t\right)\right\} \mathcal{L}\left\{ g\left(t\right)\right\}$$

Main results

In this section, firstly we deal with fractional Dirac systems involving exponential kernel in RL and C sense. Secondly, we consider fractional Dirac systems having Mittag-Leffler kernel in RL and C sense. Then, we obtain the representations of solutions for Dirac systems by Laplace transforms. Assume that $h(x) = p(x)y_1(x)$ and $g(x) = r(x)y_2(x)$.

Theorem 11. Let's consider fractional Dirac system involving exponential kernel in RL sense:

$${}^{CF}L_{1}f = \begin{cases} {}^{CFR}D^{\alpha}y_{2}(x) + p(x)y_{1}(x) = \lambda y_{1}(x), x \in [0, n], n \in \mathbb{R}^{+} \\ {}^{CFR}D^{\alpha}y_{1}(x) + r(x)y_{2}(x) = \lambda y_{2}(x) \end{cases}$$
(12)

where $0 \le \alpha \le 1$, p(x), and r(x) are real valued continuous functions on [0, n]. Then, the representations of solutions of the system (12) are given by:

$$y_{1}(x,\lambda) = \left[\frac{M(\alpha)(1-\alpha)^{2} \delta(x)}{M^{2}(\alpha) + \lambda^{2}(1-\alpha)^{2}} + \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) + \tilde{a}_{1} M^{3}(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M(\alpha) \lambda i} - \frac{e^{\tilde{a}_{1}x} \left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1} \right) \lambda^{2} + (\alpha - 1)^{2} \lambda^{2} \tilde{a}_{1} M(\alpha) \right]}{2M$$

$$-\frac{e^{\tilde{a}_{2}x}\left[\left(-\alpha+2(\alpha-1)\tilde{a}_{2}\right)\lambda^{2}+(\alpha-1)^{2}\lambda^{2}\tilde{a}_{2}M\left(\alpha\right)+\tilde{a}_{2}M^{3}\left(\alpha\right)\right]}{2M\left(\alpha\right)\lambda i}r(x)y_{2}(x)+\\ +\left[\frac{\lambda\left(1-\alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right)+\lambda^{2}\left(1-\alpha\right)^{2}}-\frac{e^{\tilde{a}_{1}x}\left[\left(\alpha-1\right)^{3}\lambda^{2}-\left(1-2(\alpha-1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M\left(\alpha\right)i}+\\ +\frac{e^{\tilde{a}_{2}x}\left[\left(\alpha-1\right)^{3}\lambda^{2}-\left(1-2(\alpha-1)\tilde{a}_{2}\right)M^{2}\left(\alpha\right)\right]}{2M\left(\alpha\right)i}\right]p(x)y_{1}(x)\\ y_{2}(x,\lambda)=\left[-\frac{M\left(\alpha\right)\left(1-\alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right)+\lambda^{2}\left(1-\alpha\right)^{2}}-\\ -\frac{e^{\tilde{a}_{1}x}\left[\left(-\alpha+2(\alpha-1)\tilde{a}_{1}\right)\lambda^{2}+(\alpha-1)^{2}\lambda^{2}\tilde{a}_{1}M\left(\alpha\right)+\tilde{a}_{1}M^{3}\left(\alpha\right)\right]}{2M\left(\alpha\right)\lambda i}+\\ +\frac{e^{\tilde{a}_{2}x}\left[\left(-\alpha+2(\alpha-1)\tilde{a}_{2}\right)\lambda^{2}+(\alpha-1)^{2}\lambda^{2}\tilde{a}_{2}M\left(\alpha\right)+\tilde{a}_{2}M^{3}\left(\alpha\right)\right]}{2M\left(\alpha\right)\lambda i}\right]p(x)y_{1}(x)+\\ +\left[\frac{\lambda\left(1-\alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right)+\lambda^{2}\left(1-\alpha\right)^{2}}-\frac{e^{\tilde{a}_{1}x}\left[\left(\alpha-1\right)^{3}\lambda^{2}-\left(1-2(\alpha-1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M\left(\alpha\right)i}+\\ +\frac{e^{\tilde{a}_{2}x}\left[\left(\alpha-1\right)^{3}\lambda^{2}-\left(1-2(\alpha-1)\tilde{a}_{2}\right)M^{2}\left(\alpha\right)\right]}{2M\left(\alpha\right)i}\right]r(x)y_{2}(x)$$

where

$$\tilde{a}_{1} = \frac{-\lambda^{2} \alpha (1 - \alpha) + \alpha \lambda M(a)i}{M^{2}(\alpha) + \lambda^{2} (1 - \alpha)^{2}}, \quad \tilde{a}_{2} = \frac{-\lambda^{2} \alpha (1 - \alpha) - \alpha \lambda M(a)i}{M^{2}(\alpha) + \lambda^{2} (1 - \alpha)^{2}}$$

$$(13)$$

Proof. By applying Laplace transforms on both side of the eq. (12) and using *Theorem* 5, we find that:

$$\mathcal{L}\{(y_1)\}(s) = \frac{\frac{M(\alpha)}{1-\alpha} \frac{s}{s + \frac{\alpha}{1-\alpha}}}{\left[\frac{M(\alpha)}{1-\alpha} \frac{s}{s + \frac{\alpha}{1-\alpha}}\right]^2 + \lambda^2} \mathcal{L}\{g\}(s) + \frac{\lambda}{\left[\frac{M(\alpha)}{1-\alpha} \frac{s}{s + \frac{\alpha}{1-\alpha}}\right]^2 + \lambda^2} \mathcal{L}\{h\}(s)$$

$$M(\alpha) \qquad s$$
(14)

$$\mathcal{L}\{(y_2)\}(s) = \frac{\lambda}{\left[\frac{M(\alpha)}{1-\alpha} \frac{s}{\frac{\alpha}{1-\alpha}}\right]^2 + \lambda^2} \mathcal{L}\{g\}(s) - \frac{1-\alpha}{\left[\frac{M(\alpha)}{1-\alpha} \frac{s}{s+\frac{\alpha}{1-\alpha}}\right]^2 + \lambda^2} \mathcal{L}\{h\}(s)$$

$$(15)$$

Now, applying the inverse Laplace transform to the eqs. (14) and (15) and using convolution theorem, we can obtain the representations of solutions, of the system (12).

Theorem 12. Let's consider fractional Dirac system with exponential kernel in C sense:

$${}^{CF}L_{2}f = \begin{cases} {}^{CFC}D^{\alpha}y_{2}(x) + p(x)y_{1}(x) = \lambda y_{1}(x), \ x \in [0, n], n \in \mathbb{R}^{+} \\ {}^{-CFC}D^{\alpha}y_{1}(x) + r(x)y_{2}(x) = \lambda y_{2}(x) \end{cases}$$
(16)

where $0 < \alpha < 1$, p(x), and r(x) are real valued continuous functions on [0, n]. Then, the representations of solutions of system (16) are given by:

$$\begin{split} y_{1}(x,\lambda) &= \frac{\left(\tilde{\alpha}_{1}e^{\tilde{a}_{1}x} - \tilde{\alpha}_{2}e^{\tilde{a}_{2}x}\right)M\left(\alpha\right)\left[\left(\alpha-1\right)^{2}\lambda^{2} + M^{2}\left(\alpha\right)\right]c_{1}}{2\alpha\lambda i} + \\ &+ \frac{\left[\alpha\left(\tilde{\alpha}_{1}-1\right) - \tilde{\alpha}_{1}\right]e^{\tilde{a}_{1}x} + \left[\alpha\left(1 - \tilde{a}_{2}\right) + \tilde{a}_{2}\right]e^{\tilde{a}_{2}x}c_{2}}{2\alpha i} + \\ + \left[\frac{M\left(\alpha\right)\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} + \frac{e^{\tilde{a}_{1}x}\left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{1}\right)\lambda^{2} + (\alpha - 1)^{2}\lambda^{2}\tilde{a}_{1}M\left(\alpha\right) + \tilde{a}_{1}M^{3}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} - \\ - \frac{e^{\tilde{a}_{2}x}\left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{2}\right)\lambda^{2} + (\alpha - 1)^{2}\lambda^{2}\tilde{a}_{2}M\left(\alpha\right) + \tilde{a}_{2}M^{3}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} \right]r(x)y_{2}(x) + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)i} + \\ + \frac{e^{\tilde{a}_{2}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{2}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)i} \right]p(x)y_{1}(x) \\ y_{2}(x,\lambda) &= \frac{\left(\tilde{a}_{1}e^{\tilde{a}_{1}x} - \tilde{a}_{2}e^{\tilde{a}_{2}x}\right)M\left(\alpha\right)\left[\left(\alpha - 1\right)^{2}\lambda^{2} + M^{2}\left(\alpha\right)\right]c_{2}}{2\alpha\lambda i} - \\ - \frac{\left[\alpha\left(\tilde{a}_{1}-1\right) - \tilde{a}_{1}\right]e^{\tilde{a}_{1}x} + \left[\alpha\left(1 - \tilde{a}_{2}\right) + \tilde{a}_{2}\right]e^{\tilde{a}_{2}x}c_{1}}{2M(\alpha)\lambda i} + \\ + \frac{e^{\tilde{a}_{2}x}\left[\left(-\alpha + 2(\alpha - 1)\tilde{a}_{2}\right)\lambda^{2} + \left(\alpha - 1\right)^{2}\lambda^{2}\tilde{a}_{2}M\left(\alpha\right) + \tilde{a}_{2}M^{3}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} \right]p(x)y_{1}(x) + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(1 - \alpha\right)^{2}} - \frac{e^{\tilde{a}_{1}x}\left[\left(\alpha - 1\right)^{3}\lambda^{2} - \left(1 - 2(\alpha - 1)\tilde{a}_{1}\right)M^{2}\left(\alpha\right)\right]}{2M(\alpha)\lambda i} + \\ + \left[\frac{\lambda\left(1 - \alpha\right)^{2}\delta\left(x\right)}{M^{2}\left(\alpha\right) + \lambda^{2}\left(\alpha\right)} - \frac{e^{\tilde{a}_{1}x}\left(\alpha\right)}{M^{2}\left(\alpha\right)$$

where $c_1 = y_1(0)$, $c_2 = y_2(0)$

Proof. Proof can be done in a similar way to the proof of *Theorem 11*.

Theorem 13. Consider the fractional Dirac system involving Mittag-Leffler kernel in C sense:

$${}^{CF}L_{3}f = \begin{cases} {}^{ABC}_{0}D^{\alpha}y_{2}(x) + p(x)y_{1}(x) = \lambda y_{1}(x) \\ -{}^{BC}_{0}D^{\alpha}y_{1}(x) + r(x)y_{2}(x) = \lambda y_{2}(x) \end{cases}$$
(17)

where x[0, n], $0 < \alpha < 1$, p(x), and r(x) are real valued continuous functions on [0, n]. Then, representations of solutions of system (17) are given by:

$$\begin{split} y_{1}(x,\lambda) &= \frac{B(\alpha) \left[B^{2}(\alpha) + (1-\alpha)^{2} \lambda^{2}\right] x^{\alpha} c_{1}}{2\lambda \alpha i} \left[E_{a,1-\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,1-\alpha}\left(a_{2}x^{\alpha}\right)\right] - \\ &- \frac{(1-\alpha) \left[B^{2}(\alpha) + (1-\alpha)^{2} \lambda^{2}\right] x^{\alpha} c_{2}}{2\alpha i} \left[E_{a,1-\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,1-\alpha}\left(a_{2}x^{\alpha}\right)\right] + \\ &+ \frac{\left[B^{2}(\alpha) + (1-\alpha)^{2} \lambda^{2}\right] c_{2}i}{2} \left[E_{a,1}\left(a_{1}x^{\alpha}\right) - E_{a,1}\left(a_{2}x^{\alpha}\right)\right] + \\ &+ \left[\frac{(1-\alpha)B(\alpha)\delta(x)}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}} (1-\alpha)\lambda ix^{\alpha-1}\left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) + \\ &+ \frac{x^{\alpha-1} \left[\left(1-\alpha\right)\lambda i + \left(1-\alpha\right)\lambda ai + \alpha B(\alpha)\right]}{2} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right)\right] r(x)y_{2}(x) + \\ &+ \left[\frac{(1-\alpha)^{2}\lambda\delta(x)}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}} - \frac{(1-\alpha)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &- \lambda\alpha ix^{\alpha-1} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) + E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) + \\ &+ \frac{\left[\alpha\left(B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}\right) - \left(1-\alpha\right)^{2}\left(1 + 2\alpha\right)\lambda^{2}x^{\alpha-1}\right]}{2B(\alpha)i} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right)\right] p(x)y_{1}(x) \\ y_{2}(x) &= \frac{B(\alpha)\left(B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}\right)x^{\alpha}c_{2}}{2\lambda\alpha i} \left(E_{a,1-\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,1-\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &- \frac{\left(B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}\right)c_{1}i}{2\alpha i} \left(E_{a,1}\left(a_{1}x^{\alpha}\right) - E_{a,1}\left(a_{2}x^{\alpha}\right)\right) - \\ &- \frac{\left(B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}\right)c_{1}i}{B(\alpha)i} \left(E_{a,1}\left(a_{1}x^{\alpha}\right) - E_{a,1}\left(a_{2}x^{\alpha}\right)\right) - \\ &+ \left[\frac{\left(1-\alpha\right)^{2}\lambda\delta(x)}{B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}} - \frac{\left(1-\alpha\right)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &+ \left[\frac{\left(1-\alpha\right)^{2}\lambda\delta(x)}{B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}} - \frac{\left(1-\alpha\right)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &+ \left[\frac{\left(1-\alpha\right)^{2}\lambda\delta(x)}{B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}} - \frac{\left(1-\alpha\right)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &+ \left[\frac{\left(1-\alpha\right)^{2}\lambda\delta(x)}{B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}} - \frac{\left(1-\alpha\right)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right)\right) - \\ &+ \left[\frac{\left(1-\alpha\right)^{2}\lambda\delta(x)}{B^{2}(\alpha) + \left(1-\alpha\right)^{2}\lambda^{2}} - \frac{\left(1-\alpha\right)^{2}\lambda^{2}x^{\alpha-1}}{B(\alpha)^{2}} - \frac{\left(1-\alpha\right)^{2}\lambda^{2}x^{\alpha$$

$$\begin{split} &-\lambda\alpha ix^{\alpha-1}\Big(E_{\alpha,\alpha}\left(a_{1}x^{\alpha}\right)+E_{\alpha,\alpha}\left(a_{2}x^{\alpha}\right)\Big)+\\ &+\frac{\left[\alpha\left(B^{2}\left(\alpha\right)+\left(1-\alpha\right)^{2}\lambda^{2}\right)-\left(1-\alpha\right)^{2}\left(1+2\alpha\right)\lambda^{2}x^{\alpha-1}\right]}{2B(\alpha)i}\Big(E_{\alpha,\alpha}\left(a_{1}x^{\alpha}\right)-E_{\alpha,\alpha}\left(a_{2}x^{\alpha}\right)\Big)\right]r(x)y_{2}(x)-\\ &-\left[\frac{\left(1-\alpha\right)B(\alpha)\delta(x)}{B^{2}(\alpha)+\left(1-\alpha\right)^{2}\lambda^{2}}+\left(1-\alpha\right)\lambda ix^{\alpha-1}\left(a_{1}E_{\alpha,\alpha}\left(a_{1}x^{\alpha}\right)-a_{2}E_{\alpha,\alpha}\left(a_{2}x^{\alpha}\right)\right)+\\ &+\frac{x^{\alpha-1}\left[\left(1-\alpha\right)\lambda i+\left(1-\alpha\right)\lambda\alpha i+\alpha B(\alpha)\right]}{2}\Big(E_{\alpha,\alpha}\left(a_{1}x^{\alpha}\right)-E_{\alpha,\alpha}\left(a_{2}x^{\alpha}\right)\Big)\right]p(x)y_{1}(x) \end{split}$$

where

$$a_{1} = \frac{-\lambda^{2}\alpha(1-\alpha) + \lambda\alpha B(\alpha)i}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}}, \quad a_{2} = \frac{-\lambda^{2}\alpha(1-\alpha) - \lambda\alpha B(\alpha)i}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}}$$

Proof. Applying Laplace transform on both side of the system (17) and by the help of *Theorem 6*, we find that:

$$\mathcal{L}\{(y_{1})\}(s) = \frac{\frac{B^{2}(\alpha)s^{2\alpha-1}}{\left[s^{\alpha}(1-\alpha)+\alpha\right]^{2}}c_{1}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}+\lambda^{2}} + \frac{\frac{B(\alpha)s^{\alpha}}{\left[s^{\alpha}(1-\alpha)+\alpha\right]}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}+\lambda^{2}} \mathcal{L}\{g\}(s) - \frac{\frac{\lambda B(\alpha)s^{\alpha-1}}{\left[s^{\alpha}(1-\alpha)+\alpha\right]}c_{2}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}+\lambda^{2}} + \frac{\lambda}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}+\lambda^{2}} \mathcal{L}\{h\}(s)$$

$$\frac{B(\alpha)s^{\alpha}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}} + \lambda^{2} + \frac{\lambda}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}+\lambda^{2}} \mathcal{L}\{h\}(s)$$

$$\mathcal{L}\{(y_{2})\}(s) = \frac{\frac{B^{2}(\alpha)s^{2\alpha-1}}{[s^{\alpha}(1-\alpha)+\alpha]^{2}}c_{2}}{\left[\frac{B^{2}(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right] + \lambda^{2}} + \frac{\lambda}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right] + \lambda^{2}} \mathcal{L}\{g\}(s) + \frac{\frac{\lambda B(\alpha)s^{\alpha-1}}{s^{\alpha}(1-\alpha)+\alpha}c_{1}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2} + \lambda^{2}} + \frac{\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}}{\left[\frac{B(\alpha)s^{\alpha}}{s^{\alpha}(1-\alpha)+\alpha}\right]^{2}} \mathcal{L}\{h\}(s)$$

$$(19)$$

in here $c_1 = y_1(0)$ and $c_2 = y_2(0)$. Now, employing the inverse Laplace transform to the eqs. (18), and (19) and by means of convolution theorem, so we can derive the representations of solutions, of the system (17).

Theorem 14. Let consider fractional Dirac system with Mittag-Leffler kernel in RL sense:

$${}^{CF}L_4f = \begin{cases} {}^{ABR}D^{\alpha}y_2(x) + p(x)y_1(x) = \lambda y_1(x) \\ -{}^{ABR}D^{\alpha}y_1(x) + r(x)y_2(x) = \lambda y_2(x) \end{cases}$$
(20)

where $x \in [0, n]$, $0 < \alpha < 1$, p(x), and r(x) are real valued continuous functions on [0, n]. Then, representations of solutions of system (20) are given by:

$$\begin{split} y_{1}(x,\lambda) &= \left[\frac{(1-\alpha)^{2}\lambda\delta(x)}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}} - \frac{(1-\alpha)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) - \\ &- \lambda\alpha ix^{\alpha-1} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) + E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) + \\ &+ \left[\frac{\alpha\left(B^{2}\left(\alpha\right) + (1-\alpha)^{2}\lambda^{2}\right) - (1-\alpha)^{2}\lambda^{2}x^{\alpha-1}\left(1 + 2\alpha \right)}{2B(\alpha)i} \right] \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) \right] p(x)y_{1}(x) + \\ &+ \left[\frac{(1-\alpha B)(\alpha)\delta(x)}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}} + (1-\alpha)\lambda ix^{\alpha-1}\left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) + \\ &\frac{x^{\alpha-1}\left[\left(1 - \alpha\right)\lambda i + \left(1 - \alpha\right)\lambda\alpha i + \alpha B\left(\alpha\right) \right]}{2} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) \right] r(x)y_{2}(x) \\ y_{2}(x,\lambda) &= \left[\frac{(1-\alpha)^{2}\lambda\delta(x)}{B^{2}(\alpha) + (1-\alpha)^{2}\lambda^{2}} - \frac{(1-\alpha)^{3}\lambda^{2}x^{\alpha-1}}{B(\alpha)i} \left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) - \\ &- \lambda\alpha i - x^{\alpha-1}\left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) + E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) + \\ + \frac{\left[\alpha\left(B^{2}\left(\alpha\right) + \left(1 - \alpha\right)^{2}\lambda^{2}\right) - \left(1 - \alpha\right)^{2}\lambda^{2}x^{\alpha-1}\left(1 + 2\alpha\right) \right]}{2B(\alpha)i} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) \right] r(x)y_{2}(x) - \\ &- \left[\frac{\left(1 - \alpha\right)B(\alpha)\delta(x)}{B^{2}(\alpha) + \left(1 - \alpha\right)^{2}\lambda^{2}} + \left(1 - \alpha\right)\lambda ix^{\alpha-1}\left(a_{1}E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - a_{2}E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) + \\ &+ \frac{x^{\alpha-1}\left[\left(1 - \alpha\right)\lambda i + \left(1 - \alpha\right)\lambda\alpha i + \alpha B(\alpha\right) \right]}{2} \left(E_{a,\alpha}\left(a_{1}x^{\alpha}\right) - E_{a,\alpha}\left(a_{2}x^{\alpha}\right) \right) \right] p(x)y_{1}(x) \\ \end{array}$$

Proof. Proof is similar to the proof of *Theorem 13*.

Conclusion

In this study, we have analyzed fractional Dirac systems involving exponential and Mittag-Leffler kernels in RL and C sense. The Laplace transforms has been employed to gain representations of solutions for Dirac systems.

References

- [1] Caputo, M., Fabrizio, M., A New Definition of Fractional Derivative without Singular Kernel, *Progr. Fract. Differ. Appl*, 1 (2015), 2, pp. 1-13
- [2] Atangana, A., Baleanu, D., Caputo-Fabrizio Derivative Applied to Groundwater Flow within Confined Aquifer, *Journal of Engineering Mechanics*, *143* (2017), 5, D4016005
- [3] Atangana, A., Nieto, J. J., Numerical Solution for the Model of RLC Circuit Via the Fractional Derivative without Singular Kernel, *Advances in Mechanical Engineering*, 7 (2015), 10, pp.1-7
- [4] Atangana, A., Baleanu, D., New Fractional Derivatives with Non-Local and Non-Singular Kernel: Theory and Application Heat Transfer Model, *Thermal Science*, 20 (2016), 2, pp. 763-769

- [5] Gomez-Aguilar, J. F., et al., Analytical Solutions of the Electrical RLC Circuit Via Liouville-Caputo Operators with Local and Non-Local Kernels, Entropy, 18 (2016), 8
- [6] Jarad, F., et al., On a New Class of Fractional Operators, Advances in Difference Equations, 1 (2017), Aug., p. 247
- [7] Ugurlu, E., et al., On the Solutions of a Fractional Boundary Value Problem, Turkish Journal of Mathematics, 42 (2018), 3, pp. 1307-1311
- [8] Al-Refai, M., Abdeljawad, T., Analysis of the Fractional Diffusion Equations with Fractional Derivative of Non-Singular Kernel, Advances in Difference Equations, 2017 (2017), 1, 315
- [9] Owolabi, K. M., Atangana, A., Numerical Approximation of Non-Linear Fractional Parabolic Differential Equations with Caputo-Fabrizio Derivative in Riemann-Liouville Sense, Chaos, Solitons and Fractals, 99 (2017), pp. 171-179
- [10] Sun, H., H., et al., Relaxation and Diffusion Models with Non-Singular Kernels, Physica A: Statistical Mechanics and its Applications, 468 (2017), Feb., pp. 590-596
- [11] Abdeljawad, T., Baleanu, D., On Fractional Derivatives with Exponential Kernel and Their Discrete Versions, *Reports on Mathematical Physics*, 80 (2017), 1, pp. 11-27
- [12] Abdeljawad, T., Baleanu, D., Integration by Parts and Its Applications of a New Non-Local Fractional Derivative with Mittag-Leffler Non-Singular Kernel, Jornal of Non-linear Sciences and Applications, 10 (2017), 3, pp. 1098-1107
- [13] Abro, K. A., et al., A Comparative Mathematical Analysis of RL and RC Electrical Circuits Via Atangana-Baleanu and Caputo-Fabrizio Fractional Derivatives, The European Physical Journal Plus, 133 (2018), 3, p. 113
- [14] Sheikh, N. A., et al., A Comparative Study of Atangana-Baleanu and Caputo-Fabrizio Fractional Derivatives to the Convective Flow of a Generalized Casson Fluid, The European Physical Journal Plus, 132 (2017), 1, pp. 54
- [15] Saad, K. M., Comparing the Caputo, Caputo-Fabrizio and Atangana-Baleanu Derivative with Fractional Order: Fractional Cubic Isothermal Auto-Catalytic Chemical System, *The European Physical Journal Plus*, 133 (2018), 3, p. 94
- [16] Bas, E., et al., Comparative Simulations for Solutions of Fractional Sturm-Liouville Problems with Non-Singular Operators, Advances in Difference Equations, 350 (2018), Oct., pp. 1-19
- [17] Bas, E., Ozarslan, R., Real World Applications of Fractional Models by Atangana-Baleanu Derivative, *Chaos, Solitons and Fractals, 116* (2018), Nov., pp. 121-125
- [18] Bas, E., Metin F., Fractional Singular Sturm-Liouville Operator for Coulomb Potential, *Advances in Dif*ference Equations, 2013 (2013), 1, 300
- [19] Greiner, W., Relativistic Quantum Mechanics: Wave Equations, Springer, Berlin, Germany, 1994
- [20] Bjorken, J. D., Drell, S. D., Relativistic Quantum Mechanics, McGraw-Hill, New York, USA, 1964.
- [21] Greiner, W., et al., Quantum Electrodynamics of Strong Fields, Springer, Berlin, Germany, 1985
- [22] Panakhov, E. S., Ercan, A., Stability Problem of Singular Sturm-Liouville Equation, TWMS Journal of Pure and Applied Mathematics, 8 (2017), 2, pp. 148-159
- [23] Panakhov, E. S., Inverse Problem for Dirac System in Two Partially Settled Spectrum, Vinity, 3304 (1981), pp. 1-29
- [24] Levitan, B. M., Sargsjan, I. S., Sturm-Liouville and Dirac Operators, Kluwer Academic Publishers, Dordrecht, The Netherlands, 1991
- [25] Podlubny, I., Fractional Differential Equations, Elsevier, San Diego, Cal., USA, 1998